JOON LOILOI

Glenwood Cabinet

ASSEMBLY INSTRUCTIONS

10



JOON LOLOI

ASSEMBLY INSTRUCTIONS

ID IMAGE DESCRIPTION SIZE QTY
Read these instructions carefully and keep for future
reference. Refer to parts inventory for guidance, and o @MMO ALLEN BOLT M8 X 30mm 6
ensure you have all pieces before starting. When
assembling, place all parts on a soft, clean, and flat G @ LOCK WASHER 12 X 9mm 14
surface such as a carpet to prevent scratches.
G FLAT WASHER 19 x 9mm 14
Q & ALLEN WRENCH 5mm 1
PARTS INVENTORY
ID | DESCRIPTION QTY G []mmmm LEVELING GLIDE M8 x 35mm 4
0 SIDEBOARD 1 —
o METAL PLATE 3mm 2
|
@ .o 2 (G lﬂ\ METAL L BRACKET | 62 x 25mm 1
\/
HUTCH 1
e 0 @m BOLT M4 x 15MM 1
0 FLAT WASHER 6 x 16mm 2
® = | ancror @13 x 40mm 1
0 ‘ SCREW M4mm 1
o @m@o ALLEN BOLT M6 x 15mm 8
@ f;]’ SHELF PIN 5mm 4
&
m @@mmm)m)). SCREW M4 x 15mm 4

/ 20f6




JOON LOLOI

STEP 1

Place the SIDEBOARD (1) on its back so that the bottom can be easily accessed. Slide LOCK WASHER (B) and then
FLAT WASHER (C) onto ALLEN BOLT (A). Align the bolt holes on the LEG (2) and attach them to the bottom of the
sideboard using ALLEN WRENCH (D) to screw in ALLEN BOLT (A). Do this for all 3 bolts. Repeat the process for
both legs.

STEP 2

The LEVELING GLIDE (E) is located at the bottom of the SIDEBOARD (1). When you place the furniture in the desired
position, you can adjust the LEVELING GLIDES (E) depending on the surface. Make sure it is level and stable.
Once your sideboard is level, the assembly is complete.

30fé6



JOON LOLOI

STEP 3

The wooden adjustable shelf is attached to the SHELF PIN (M) for shipping. To change the position of the shelf, first
remove the SCREWS (N) from the SHELF PIN (M). Remove the shelf and relocate the SHELF PIN (M) to another set of
pre-bored holes. Reinstall the shelf.

R

[
||
\

)08 )6

STEP 4

To change the position of the shelf on the HUTCH (3), first remove the shelf and relocate it to another set of grooves.

4 of 6



JOON LOLOI

STEP 5

Place the HUTCH (3) on top of the SIDEBOARD (1). Slide LOCK WASHER (B) and then FLAT WASHER (C) onto ALLEN
BOLT (A). Align the bolt holes on the METAL PLATE (F) and attach the back of the HUTCH (3) and SIDEBOARD (1)

using ALLEN WRENCH (D), to screw in ALLEN BOLT (A). Do this for all 4 bolts. Repeat the process for both METAL
PLATES (F).

50fé6



JOON LOLOI

STEP 6
WARNING - THIS UNIT MUST BE FIXED TO THE WALL

First, mark the hole on the wall aligned with the position of the cabinet where you want to place it. Screw the
ANCHOR (J) to the wall. Slide the FLAT WASHER (I) onto SCREW (K). Align the holes on the METAL L BRACKET (G)
and attach it to the anchor hole, then screw it in. Slide FLAT WASHER (I) onto BOLT (H). Align the bolt holes on the
METAL L BRACKET (G) and attach it to the top of the HUTCH (3) using a screwdriver to screw in BOLT (H).

Once all components have been secured, the assembly is complete.

6 of 6



